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Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@[ﬂﬁlq : QeuelanTsgeT BeTIE LGHsmers Qeram g). -

INote :  This question paper contains four parts.
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(i)

Note: (i) Answer all the questions.
Choose the most appropriate answer from the given four alternatives and write

(ii) .
the option code and the corresponding answer. : ‘
" [80048 / Tum gvey
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20 SCardrmn oes erenLigy — D@ swwIEGD.

(=4) 9.8 .Gm.-d“ (=) 9.8x104 N

(®) 98x10* enan

(FF) 980 enLam
One kilogram force equals to :
(@) 9.8 dyne (b) 98x10*N

() 98x10% dyne (d) 980 dyne

R ghueves Spen @epur’eLé &fl Qelu 2 sajeug
(1) @ehlQwens (=) GYQwens

(R) Gy (F) @@ Geiw Qeens
The eye defect ‘Presbyopia’ can be corrected by :

(@) convex lens (b) concave lens

(c) convex mirror (d) Dbifocal lens

10 sagpid B g o Basphgicdrar @ren® yerellsensfan Gu paids
Qaiwiu@w Cama 100 | aafle suydafla@idla Gu edam Baawss
Ceugun(® ereren ?

(1) 0.1 Gaundbi (e24) 10 Caurdr_
(@) 100 Geuréoi () 1000 Ganrdn

The work done in moving a charge of 10 C across two points in a circuit (s 100 ]. What is the
potential difference between the points ?

(@ 01V ® 10V

¢y 100V (d) 1000V
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Cswpens sfflusssHaeas sam_Hbgeu :

(o) QusQarre (<) ggflar &y
(®) rre ggen (7) Bévev Cumi
Artificial radioactivity was discovered by :

(a) Becquerel (b) Irene Curie

(c) Roentgen (d) Neils Bohr

@ressome 2 Heauriaadd Coameuliu@ (g)é;é;]ﬁ.lmrrm 2 Garabd

: 7 . T
(=4) Ag (=) Hg (@) Mg - (m) Al
is'an important metal to form amalgam. |

@ Ag ®) Hg © Mg @ Al

GO Q@Jﬂgﬁmmtﬁlé), Sipsssms HsNsgoGUng Binshe eumwjedleor

senyHmen
(<) wrppildoa (@) =fsfsdng
(@) ©ondpg () eflenen Gevenaw

When the pressure is increased at constarit temperature, the solubility of gases in liquid

(@) no change (b) increases

(c) decreases (d) no reaction

@, seoygeiian pH L 3 aafld, sigar [OH"] Gsflay erémen ? .. g g

(@) 1x1073M ()3 M
OH =] concentration I -

The pH of a solution is 3. Its [
© 1x10-UM (@ 1M

(@ 1x1073M (b 3M ) -
[ @Livs / Tum over
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8.

10.

CH;OH + 30, 2CO, + 3H,0 ereniug) :
(B1) ergzame) g@&ESD

() Tgsame eriiga

(@) erssamis e 2,5 mCarmpLd
() rsgCaned &NHCampmd

CHyOH + 30, - 2CO, + 3H,0 is :

(a) Reduction of ethanol

(b) Combustion of ethanol

(c) Oxidation of ethanoic acid

(d) Oxidation of ethanal

srevGuflwer L e sdr Ceauflar LuEdule srariLGEDS. . .-
(<21) ypenfl (»)ds |
(@) Quflengsdler () =85Csme

Casparian strips are present in the of the root.

(a) cortex | b) pith |

(f:) peﬁcycle | o o (d) éndociermis

aens GGrmGrGemild Gaan_Grmiwi ewwgHd srariudips.

(=) eBartean s (<) QuiLrOgeam_fs

(@) su-QulLroser s () S&ECrrsenfs

The centromere is found at the centre of the __ chromosome.
(a) Telocentric (b) Metacentric

(c) Sub-metacentric (d) Acrocentric



§11. cos eulew Hamd :

(1) gebui 1 (<) Gu 31

(®) gure 22 () =&CLrui 2
World AIDS Day :

(@) December 1 ®) May 31

(© April 22 (d) October 2

12, A@FQLPL srQamrellsmen o menss LETLEWD AwaT@LTmHET oTEl ?
(=) Paint (<) PDF

(@) MS Word (F) Scratch

Which software is used to create animation ?

(a) Paint (b) PDF

() MS Word (d) Scratch

L@ - I/ PART - II

@iy : sremeuCugd (P MarisEnse soLwelésayb. e e 22 -&@
s Lmuwons edeLweliésald. | | 7x2=14
‘Note : Answer any seven questions. Question No. 22 is compulsory.

13, g &Gl - auergl-

Define one Calorie.

;;.514. QpLL-ene GTEmITED 1srcsimﬂ G

) y ?
. 5 Jongitudinal wave ¢ :
What is a long! =zl folius / Turn gy,
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15, @mby sy sseisstar @m ETTRTRISMETS S(THéb.

16.

17.

18.

State two conditions necessary for rusting of iron.

Qurmsgis.

1. eflenens Qswie) Qgr@d -OH ®

2. uedler cueerws Ceiwiisdr (i)
3.  Pevpeypr Camwrisar (iid)
4. Gsmuy (iv)
5. &mGur eienerwd Caiwmiser W)

Match the following :

1. Functional group -OH (i)

2. Heterocyclic compounds (ii)
3.  Unsaturated compounds (ii)
4. Soap (iv)
5. Carbocyclic compounds (v)

@sw aurdeyseflen apdfluggiand craar ?

What is the importance of valves In the heart ?

“Cuniomis” cremprd a7 HEH iUy Qeuperswnrs ssdgeaSidsamb ?

Cuenden

Qum L rflwbd evguwCrl
L&D T

Qe

& &e

Benzene

Potassium Stearate
Alcohol
Furan

Ethene

What is Bolting ? How can it be induced artificially ?
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20.

21.

22,

“7

ARSI Rdre - 0a ,
‘ ®a§5uu|_®mm UL-g)élm A B, C, D 9w LrsmS®mar SioLmerD sreamailb-

@@ QupuulL ey, e <Big)

Aol upenauden dagamlbs Qn&EessET,
QupLi’ L LiehTL] 6Te emmripésa;uu@ﬁmg ?
ed character. ‘Why is it called an acquired

Tl;e aegenerated wing of a Kiwi is an acquir

—

character 7

wyriger QeulLliL@aigma o GmLTELD cllenanayser wrenal ?

What will happen if trees are cut down ?

]

B5Gpafer e-drer saflrisaflen s5e%p Ga@wmL STERTS.

Find the mass percentage composition of methane (CH4)j
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SLL_muors eflanL_wiefl&EseaLb. 7x4=2

Note:  Answer any seven questions: Question No. 32 is compulsory.

23.  p6dlwidy QUL FerLITL tyener S(medl.
Derive the ideal gas equation.
24, Al lunienau opmid grriuriemel Gempur@aenar CopBEg.

Differentiate the eye defects : Myopia-and Hypermetropia.

25. éum, UL wpmib sToré sdlisellen udrLsmer UGS
Compare the properties of alpha, beta and gamma radiations.
26.  ojeusTl Grr afFuden umc‘aurr@a;mm;q@gja;f

Write the applications of Avogadro’s Law.

i
[ 2

L

(i) o-Gorss spm6 2 (MEUMEGAUSDETET SITEMEAGMETS SoIS.

7. () 2Corss swmal GTEMDITE) GTemen ?

. (i) Whatisan alloy ?

(i) State the reasons for alloying.

8, Gaml9en guu'mwmrré;&é) wenpen edleTéES.

Explain the mechanism of cleansing action of soap.



29 elL_mL_uS]so BenL QUMb @LUIQuUwirES Blapsflulen Ligfeasamear TSI,

How does locomotion take place in Ieech ?-

30. Burrafer ey ULSSIL e efloufldaayLb.

With a neat labelled diagram, explain the structure of a neuron,

31. () wewewrAru9errd 2 TLT5&S I W1 eflanaTeyser Wireney ?
(i) wewTewrAienL Belli ereueurmy sHUNST ?
()  What are the consequences of soil erosion ?

() How will you prevent soil erosion ?

32. 90 Hz g flrCeuammenenr 2 anL i @@517 gpoowrearg e HamsCeaussder (1/10)
' wLhE Caussde @ua Hloauld oder Casl@par AmLdpng. Casl@Gprme
2 e diCleuant eremer ?

A source producing a sound of frequency 90 Hz is approaching a stationary listener with a
speed equal to (1/ 10) of the speed of sound. What will be the frequency heard by the

listener ?
L@&S - IV/PART - IV

GOl : semengg elamésepseh elmLwaissab. Ceamawrear GLisaid uLib
GUEnTIIEYLD. 3x7=23
Note : Answer all the questions. Draw diagrams wherever nccessary =
33, (&) (i) o-pg s Ga;m.‘..um.'.mL_é; & Sigmer Quwiiniss.
@) PHouugdpen pogieud aoTLD.
DIV
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(b)

(@)

WBlenGenm’ Lib erémpréd ereiar ?
\BenCeanm L sdlen iwensd s, @igear aueLEFeUD:

Lﬂd!TGGETITLI_é;@)g s smeluler apad oerei gD ? sigea 06

- leEmbled ereueUT) @enaRTdaLiLIL Ceuawr(pid ?

8y

@)

State and prove the law of conservation of linear momentum.

State the principle of moments,

OR
What is meant by electric current ?
Name and define its unit.

Which instrument is used to measure the electric current ? How should it be
connected in a circuit ?

b 2 fligheb GefpmisEné@h, Fb o fgd senmub CamohsEns@n
@ _Guwrer Gaumur@ser wrenes ?
@eflir 9yCserigafled Bireump o uifenhiser SF&D curpdlenmer. erem ?
FHET |66 FHEISD QUMTWMESELD.

S{6060
Bereflenan wpmib WBermeflaner CaupB55is.
‘A" eTeTm SlewTiné Gaﬁmgmg'@muuuu@,&,@m Qurps Aeozhg ‘B’ an';gufn
C erénp aumueeus smADg. ‘C eranp aumyemes Bl CeausgIbGurg

- oflag seTenuns WIHEDS) erafléd, A, B opmid ‘C’ -evws samis.

In what way hygroscopic substances differ from deliquescent substances ?
The acquatic animals live more in cold region. Why ?

Define volume percentage.

OR



(b) () Differentiate reversible and irreversible reactions,

(i) A solid compound ‘A’

on heating decomposes into R ‘ :
the gas ‘C’ & P gas ‘B’ and ‘C". On passing

through water, it becomes acidic. Identify A, B and C,

35. (cs';!) Gaumur® F(ms.

0 @G mstions sram Go wHmb Q@ legulenas greuy Geurr.
@)  STDDETET HQuTEDd WHHID SrHHldeT Heursid. |
S|Veug)
(=) @) @&CrrGorGsmiler wimuwlieu aflaufssayb.
' -(ii) Coumu®sgs :
2 L6 Qe e HdlFens whmb GeréQse den Hflsans.
(a) Differentiate the following:
(i) Monocot root and Dicot root
(i) Aerobic and Anaerobic respiration
OR

(b) (1) Explain the structure of a chromosome.

(i) Distinguish between somatic gene therapy and germ line gene therapy.
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